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1. (@) Choose the correct an
1x3=3

following :

(i) NMR spectroscopy is absorption/
diffraction/ radiation/emission.

(i) “The pH of pure water is neutral”,
the best explanation for this is—
the pH of pure water is 7 /water do
not contain free H* or OH™ ions/ it
pure water the concentration of H'

and OH™ are same/None of these-
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(2) bk
Or
(@) Each record in a g tabase is knoW ' ) hylogenetic
as record /file /i . ' Write a basic copceby 3 ptysteps of
d le/ticket/entry. analysis. What are the differen Lt
. .‘ S living organi
(b) Fill in the blanks 4 Phylogeny in regards to hylogenetic tree?
; How can we construct a p 2+4+5=11
(9 The full form of WWW is ___.
(ii) Fl ; erdl the
) Flow ang transformation of enef®

g

4x3=12
called . following :

(c)

(a) Internet

Write ing:
short accounts on the following P (b) Swiss PROT

; (c/c BLAST
() Scope of biophysics

b (d) Web browser
(1) X-ray Cl‘ystallography (e) Data mining
(&) Biologica) applications of LASER

o b &

Or
Wh_at IS buffer

4 note
Solution jp bio

7
Solution? Hqy, does it wor¥

\ ef
o0 the importance of b“ff*d‘
logical stygies. 3+

(4

different uence a-lignment. What are dl?

Discugg m: t}]ljo S of sequence alignmencg
s Ot"PIOt method of Squiz*ﬁi
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